|
|
|
|

A
C/K/ QbQS : Py OQ/\UCX‘%(,G!‘no‘f’?

B k L _Er\“‘(cb(?\\ ey . -‘kba i/\%pzc{'for\,‘l’u\:s QN'C'HU\
— 1S ms\:}’i\)b ok o(urza%m’t}
g | S AT dx
s - S St b __J—
= | = ‘a"'m § /x‘r (74’)( = b-»(,v g
- EEEESEEEN sl e | Tt \——:I_ i)

e | = a0 ,‘\l—,;\ / =l =g A e

; | ‘ W i \

R M B s &

| T oo | VT T 47 "l
T R

L R W]

2 TR e

@ I Converyes
| This Laerks \'%LCKLA% 27008

5 2 Cil ;
5@1‘9—%%& : 2 n° Converye s W p >\ ond diverges

Nn=1

B @emef ,lzec/P fest:
%) e . —r',_-§0\‘r\+0\0

,M# r _;i b)lnll—*. ”‘_,«-b'ﬂ—f-\go C_D'(\V()(\éaﬁzg ‘\C p:/—-k>| Q”\C/]
NnN=I\

I ;

y diverges if 0 =kl




Eec\s{g, Cgmpad&)n Teot:

guppoge {Qng and {b 37 NR, SLgUeS of
.1(«3@$|hv€, Fearms. \F Otan 2, past some po|n+
then

e 2 b c,cyr\uzr*ca,z/sq 30 cleoe s /iow\

l
1 n=

gN\E %?O\n o&u/ergcs )Sooaczs Z biox

n=o

V.2

U‘/Qﬁ&s

n=o

| il -
A/Ovta’ v/’{’]a}’ 7—+,q+3 < r‘\ Ig( iz
Ve cause n7+n+?) >(’\ E

m C)Q"\\/Cfag,,

§m¢e, 2 n* Cor\ver?p bg e ptest (ie. p=7 HL ),
\\- )Co\\O(oS bd H\e, baglc, C.O’Y\pahsaf\ tect
‘H\o\’*‘ o |

Z n'uhgg Cor\voraz% +oo

"\"0

ol
Q(/ [;765 go r\"'—h—f'& C»Or\\}ef?az_,

|
NZ-n+3 2 N~

[74

\o/c SntSen” %r;m)g.

(2] [
Whed do we_ compare 2 At e W e (oAt S

show i+ ODY\VU‘%QB"’

| 2. ' e

 (romely n23) Joubthen  n*-9 (n? =)

2 =2
= D (n?-n+d.

A e
e dhovt, Faaes, < = 5

‘ ,%nce, n? —2%‘, n* Q;sw%g Sl dnes AZQ = Mg
E \Ocajv\r\e, \aQS\c Compotﬂ&(y\ te st

- g
—_ Vyf

A {57 = 'Wh S posh feme ,901/\"‘ >n- 3

=



—— . E— = mecc o

‘ \_IWU‘C'B CA be;ﬂe,r vocuaL-' —17!6. L?m-'* Cm\ocif;SOn

a«?poaz fani and fb,\g Ore, Sequences of poa:Hue

e +erms (past geme @SS . Then

iTs

Cbn\er%c oc aoth o\\vcx\%e,

(C .= O Fhen if SO\,.\ otwe,rzxag 3o dees E’Q,Lo”‘ yanch
F Zb / Cor\ue,(“%e% 5 <ol .clioes  X0n. |

n=-0

/&m“n C’,>O Hien zo\,\ ond 2‘0 looHn

h=o

= ;\F,C;:_ 9_0 , Hhen W 20\,\ Conueraess &‘3 does g,:bh : cuxd
Pt JQ_E_:IO,, d&vesz‘_S %o dOQS Zan. e el e : :

e R O TR

S

Lce\a ok Hr\e, d@rwrmk— Jf(r‘m in \"’\c numem’ror* (I\ s
Hf\(, d—Q/\QrY\\If\o\‘\'D(‘ Cr\"‘\ |4 RN ol G 1
Campore g Yo mT. -

l : 2 "

T e ¥ 4 R 7 e
'é(/” A —,_1 LT nve wenTend h n—%ao l—%*- Tl
Ao = -
%ﬁf\c{, i ol 2 n —-r\+g cmuerzdz (or clwg,%qg (')us+ <
&L ees.
nx

w . =
@\_):\‘)2:'; W:gz,s Lota W\Q.p'4<s+(‘((.PTQ>\5 ond
<o r\—o/)o ;
S n?-n+3  Converyes too.

hA=o

.....




l
i
|

—— .
_O“/ QO& 2 InCk) Converse, oF c}iv«w%cz,.? g)
‘ I semehing Hho bk

: l(r" nuercée,s | we v’lZ,U/l LK) 2 o(\‘yuza;}é

M%

|
|
|
i
i
|

Q,Tl\ > \,‘_ e k> LAY for ik S
Ao | i
kgT tver%g,g \?JJ,MP“T_SF(@ —l‘l)
: do
and o0 ;l Zn?u cliverges %#% compupsonfest.
, 2

e R G
. ,cx/Qoes Z_éme——m — tonwerge erckivecge Y

s ()21/\3 Hre otk &WISOA Test “ bohed dominates?
N st | AT (0.0 (e 79 a 0 (r\\ & 13 Y < & Jf","‘q_> ﬂi anch e
I AT o

“converyes oy the podest

= A=o = m{mc )

(:e, 5: 2>|\ and S 2 AT Cenuee s

L e m T Al /;M Sl i

-l o aehelad T A Zgcadealod. T N2 (lacctan(a) i R e
N2+ |

P —————— L) 0T T e O A

—— = hRmea S = TN

= fon(nd)
%\9 Hhe hmv{— stmemsom 4’CS{— Soﬁ Z s

B £ — Ty
: S B -
T~~ M —— — i —— e . - = L —



o

n_:o' ;;);).L +b,Q ‘hﬂ:

ruecges
g
‘J\)@ 1" C,ompo.(‘(_ H'\e caA\len e es "'D
L\m& Com\oonam Mest!

/

[N
an

k-)\
+a,_n

,,‘,’f'Clﬁ""O\o

«..-a"_ aq,c‘_o\\\ The. rjznzf&\\\ze,cf 2= test
i Vst

ncpﬁk

—f,.*br\’\‘bo
e _p=A- k>\ o)

e s, v e

il bnt4Q o Nt '+ . +lo nt be

,q',\g, / P
b~

i 117, Qe ragn G tas
N0 ,Q bzﬂ +b1| Pl "'*’E\n*b(’
L-k+| ) Sy |
/ZJMO\r\’*,ql‘f'Oﬂ +Q° .’/mg

Sdol it

dJUU‘LkLS QX%HU UNS

7|'
e

o=A-k51 |,

as ():,C—L":i

7, s
oo

2?{5"0(@6&

h=0

Hhe senes wnverye s

Hne <eires cluvu‘ax,s

Cﬁv"\\/ﬁ:(?oc,& o




